Q14) / cos? (2x) dix

1

:g/(’l+cos 4x) dx

1(_’_’],4)
=—(x+ —sin4x
2 4

1 1
= Ex—i—gsinﬁrx—i—c

Aside

1
cos” x = E(T + cos(2 x))

’
cos” 2x = 5(1 + cos(4x))

1 1
x — —/ ax
x4+ 1 ) <2 —x+1
1 1 11 2(x —1—
Y RSHESN
5 x4+ 1 3 2 x2 — x4+ 1
1 2x—1 3
_11_5/(><2—><+’I_ 24 1)2 52)dx
(*+3)2+ (%)
_ 1 2 12 1 X3
=—lIn(x+1)—=(In(x —x+1))+§—5tan ( Z )
1 2x 1
=l —lh(x+1)—=n(x*=—x+1)+—=tan ' (= — —=)+C
(et 1) = 2 )+ g (- )
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x+ 1 =0whenx=—"1

Aside
O-‘ ?) (€4 1) = (x+ 1)6& — x+ 1)
1 A Bx+ C
(x4+ 12 —x+1)  x+1 X2 — x+1

substitutingx = —1intox* —x+1= 3

1

A=—
3
used x = -1, now we sub x = O
1
= BxO+ C
1= S—+ *
O+1 02 —-0+1
1
1= =-4C
5+
2
c==2
3
usex =1
1 3 Bx1+ £
1+1(12=1+1) 1T+ 12 —14+1
1o lip4 2
2 6 %
1
B=——
3
d
E((xz—x—i—’l):Zx—’]
1 3
2 2
_ 1 =% — 42
X X+ X x+4+4
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Q16) / xsin® x dx

/]/ (1 — cos(2x)) dx

/xdx+/ —x 05 (2x) dx) p /2
+ - cos™*
—1(1><2 ——xsin (2x) — — cos (2x)) N _>§ 7 oin 2x
2'2 2 4 + O ¥ —3cos2x
7 — xein (2) = 005 (2x) + C
=|—x" — —xsin — —cos
25— 2% x) = ge X

2
(a17.)/ (x—i—%) dx

=/><2—|—2—|—><72d><

1 1
=[x’ +2x——+C
3 X

(Q19) / cot® x dx

cos” x
= —— dx
sin” x
/ (1 — sin® x)2 cos x

sin° x

pad® .,

4+ 4x+29 = x° +4x+ 4+ 25
= (x+2)*+5°

Aside
cos*x = (1 — sin® x)?
Letu = sinx
du = cos x
1

sin x

= CSC X

=~z csc* x+ csc?x+1In|sinx| 4+ C
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Aside

T tanx odd f(x
(QZO-)/?1 21 %) _ £(x)

even f(x)

a
/ odd f(x) dx = 0O
—a

(QZT.)/sinzxcoszxdx

=/( 1 — cos” x) cos® x sin x dx Aside
oy o sin® x = sin® x X sin x
:—/(1—u)u i = (1 — cos® x) x sinx
:_/(UZ_Lﬁ) du Let u = cos x
du = —sinx dx

L 6053 x+ = cos Ox+ C \(
=|—5 C05 " X — C0S5 "X
3 5 U

: o
oo [oreN' pagl
2 5 5 X2 1
— dx XN/ X2+ 1= x XZ(—2+—2)
V14 x72 X
1
__1 La’u :><2>q/’l—|—f2
2 ) Vu X
1 1 A X75
= — — 2 = —_—
2 /u . V14 x2
letu=1+x 2
=|"\y1+z+¢C du = 2x “dx
(QZS.)/sin Xsec xtan x dx
, Aside
:/ tan” x dx ' sin x
sihxsec x =
B 5 €0s X
—/ (sec” x — 1) dx — tanx

[mnx v 0]
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1 4 cos x
[ Zen? (%)
- 2/0052( %) Aside
:/tan2 (g) dx cos” 5= 5(1 + cos x)
2 X sin® = = —(1 — cos x)
= —)—=1)d
/(sec (2) ) dx

(a59.)/><2\/x+_4 adx
:/( u—4)2/u du1 Aoidle ‘CO ‘U\(
:/(u2—8u+ 16)u? du =

Aside
Y
Qv
1 V3
(Q@O,)/ 4 — x2 dx
—1 2 1
:
:2/ V4 — x2 dx
)
1 1 T
:2(§><1><\/5+ —2% x 5) «
2 ~2 1 1T 2
21
=|Va+ =
)
1 T
=sin"1(=)=Z=
sin (2) 2
1
Area of Sector = Erzﬁ

20
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Aside

letu=1lnx
1

du = — dx
%

1
Whenx=—,u= —"1
e

Whenx=¢e,u="1

(@Q70) /e V1= (nx)? dx Y

IV ey
1 X

|
|\ Q=

S
4

X

:/ga(u—mm

B (u—"1)2
_5/Tdu Aside
:5/u2—2u+1du Letu = /x+ 1
u x=(u—1)°
1
:5/(u—2+—)du dx = 3(u—1)?
u

1
=5(§u2 —2u+1Iniu])

= 2(\3/;<+1)2—6(\5/;<+1)+]n|\5/;<+1|+6

24
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